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= 1,674,000 1,674,000 0
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= 2,794,190 2,780,100 14,090
= 12,718,138 13,229,806 A511,668
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= 5,540 28,740 A 23,200
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= 50,000 50,000 0
= 940 25,940 A 25,000
= 352,645 324,645 28,000
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201 LetEE] 9,430 6,430 3,000
01 AtR2teld] 9,430 6,430 3,000
OUDnEASH UM 3,000,000& 3,000 0 3,000
SETE MA0IE N 100,000 100,000 0
= 50,000 50,000 0
S 0 25,000 A 25,000
s 50,000 25,000 25,000
401 AIEHIZ 208 0 100,000 100,000
= 0 50,000 250,000
= 0 25,000 A 25,000
s 0 25,000 225,000
01 Al£Hl 0 100,000 100,000
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=S8 0 0 100,000 A 100,000
= 0 50,000 250,000
S 0 25,000 A 25,000
= 0 25,000 A 25,000
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= 50,000 0 50,000
= 50,000 0 50,000
01 Bt ELEL 100,000 0 100,000
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01 A& 0 200,000 200,000

OJI = ARE H bl 0 200,000 200,000
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ASHBTHAY 2,370,000 2,370,000 0
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< 0 52,500 /52,500
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< 0 52,500 /52,500
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= 112,000 112,000 0
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= 112,000 112,000 0
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01 =LHOYI 3,240 0 3,240
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= 230,000 200,000 30,000
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2 122,812 109,984 12,828
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01 2o 9,720 10,800 21,080
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= 168,960 230,500 261,540
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402 QI2HHE01M 160, 160 129,920 30,240
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= 0 100,000 A 100,000
= 500,000 0 500,000
= 100,000 100,000 0
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= 0 100,000 100,000
= 500,000 0 500,000
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= 496,850 0 496,850
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= 0 50,000 50,000
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13,000, 0002 13,000 0 13,000




